== A
N = 0 & AF S 99 N A
20178 = 20 A LEHSH ALS =X
A AMIEX
B Fo)s 25 L X
¢ FUSI MHIAAY (9 ® =)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
ALS S X 86,556,656 82,980,453 3,576,203
= 59,579,559
Al 23,725,549
- 3,251,548
FAH=Es E5 ¢ XA 2,570,905 2,293,830 277,075
Al 2,357,048
- 213,857
FOIZ2X AHIAANY 2,570,905 2,293,830 277,075
Al 2,357,048
- 213,857
X ALS X 5,250 5,250 0
201 et 5,250 5,250 0
01 AP 2t 2] H| 5,250 5,250 0]
OXNYAEBEEESOH 3o &AM 5,250
-HEE2AM 3o EFALE
70,000& *15Y x53| 5,250
SANEESE2E A& E 6,000 3,000 3,000
201 et | 6,000 3,000 3,000
01 AFR 2t 2| bl 6,000 0 6,000
OZ2X&d A35s MA 6,000
B EAY 863,450 710,950 152,500
Al 834,000
- 29,450
201 LBt 350 350 0
03 A2 E H| 350 350 0
O4.198Y J|E AMEBZA =2 A} 350
—-=325 & U HAZE(E, M S) ¢ 350
301 Bt A= 861,100 694,300 166,800
Al 834,000
- 27,100
01 AISIE & A 462 850,800 684,000 166,800
OFFKRZA =g K= 834,000
Al 834,000
OFEEKRZ2T MXR=Z2 X2 16,800
11 JIEtE A2 10,300 10,300 0
OXEE SA 85 /=22 300
OBZUaX XS 10,000
-850 & MAEBEHAN &N 10,000
307 2iz2to| A 2,000 2,000 0
04 QIZ2tSHALALS B = 2,000 2,000 0
OSsd =2 A 2,000
B3 29 10,172 19,112 A 8,940
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2N
X ZH -
L= B

el

A BB B (E) - HRAY - BES 0] &k o4 il Hl D&
SIS ENS 222 19,000 18,000 1,000
201 ¢er24l 1,000 0 1,000
01 At22t2l bl 1,000 0 1,000
O3 EEMISZ 222 24T H1X
500, 000& =24 1,000
307 21201 A 18,000 18,000 0
10 ALl SXNAIEEE2EHEX 18,000 18,000 0
OSEFSEMIASAZ 22 224l 18,000
e 55,300 55,300 0
Al 53,000
- 2,300
307 glz2tol & 55,300 55,300 0
Al 53,000
T 2,300
10 ALl SXAIEEE 2 H EX 55,300 55,300 0
OJIZZEY™3 294 XA 4,300
Al 3,000
T 1,300
OFEnrzl 2gdl XA 51,000
Al 50,000
T 1,000
SHADH A AL XHE I 10,000 10,000 0
201 ¢er24| 2,500 2,500 0
01 AF2 22l bl 2,500 2,500 0
OSHADAZI ZH 21 2,500
301 et d = 7,500 7,500 0
01 MEIBZE 5= 7,500 7,500 0
ORHD HAAL X ZHU 750,000& 10+ 7,500
E=sIES 340,928 325,673 15,255
Al 340,928
307 glztol & 340,928 325,673 15,255
Al 340,928
01 92724l 1,000 1,000 0
Ok=90l o= - kAt 1,000
Al 1,000
10 ALSISXAIEEE2EH EX 339,928 324,673 15,255
OL=QXt&Ald 23| 339,928
Al 339,928
Mol 7= 600 600 0
201 Let2d] 600 600 0
02 2324l 600 600 0




SN ALSI S X
B Fo)s 25 L X
¢ FUSI MHIAAY (cho &)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OS2kt SEHEANLH SARS
50,000& 123 600
HEe3S AMIAEBTAIAH LRI 12,465 7,525 4,940
201 £B-2dH| 12,465 7,525 4,940
02 =224l 12,465 7,525 4,940
OMIBSEFEAAY -T2 REZ 12,465
—-gpH 360& x6,0004 2,160
-sJ|H 2,290& x4,500A 10,305
FOI=RIAI M= A ALS 7,000 7,000 0
203 YR =&l 7,000 7,000 0
03 AIMZ=XH R =AY 7,000 7,000 0
OFUSXZ YREA 4,000
OAMI=SXYN dRFX 3,000
HAE LS:ME BF 69,836,911 66,860, 114 2,976,797
= 51,466,483
Al 15,447,834
- 2,922,594
Lo =2XNsd 69,749,791 66,788,114 2,961,677
=2 51,466,483
Al 15,431,994
- 2,851,314
LosXEY JRFA 1,000 1,000 0
203 YR =& 1,000 1,000 0
03 Al =AY R 1,000 1,000 0
Oko=Xgn gexad 1,000
HAZS0H () 921,889 852,461 69,428
= 829,700
Al 92,189
307 gl2tol & 921,889 852,461 69,428
= 829,700
Al 92,189
10 AL SXAIEEE2EHEX 921,889 852,461 69,428
OLe=XAIE 4AHSH 921,889
= 829,700
Al 92,189
LZAE 29H X2 953,670 891,134 62,536
= 667,568
Al 286,102
307 glz2+ol & 953,670 891,134 62,536
= 667,568
Al 286,102
10 ALSISXAIEEE2EHEX 953,670 891,134 62,536
O LZAE 23l 953,670




M AR =X
Hu: AUE LEME P
ol Lol SN S (B9 ®R)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= 667,568
Al 286,102
LZAE SAL XY N& 20,400 42,500 A 22,100
Al 20,400
307 gl2tol & 20,400 42,500 222,100
Al 20,400
10 M3 SXNANEHIS2IHEX 20,400 42,500 A 22,100
OLZAE EMI =XE 20,400
Al 20,400
A2 AL OF2tZHleldE olAdl XI& 38,400 33,300 5,100
Al 38,400
307 glz2tol & 38,400 33,300 5,100
Al 38,400
10 M EXNANEHE2IHE=S 38,400 33,300 5,100
OS2 AL Or2tA |l oA 38,400
Al 38,400
Lo 294 XA 573,823 474,000 99,823
Al 401,676
) 172,147
307 21201 A 573,823 474,000 99,823
Al 401,676
) 172,147
10 ALSISXAIEEE2IHEX 573,823 474,000 99,823
O =Xa 243l 573,823
Al 401,676
o 172,147
LOoI=EX2 SAN SHEENH X 21,900 19,440 2,460
Al 21,900
307 gl2tol & 21,900 19,440 2,460
Al 21,900
10 M3 SXNANEHIS2IHEX 21,900 19,440 2,460
OLo=Xa SAX S HEEN 21,900
Al 21,900
eI FOLAHY 23H AA 49,276 48,048 1,228
Al 49,276
307 glz2+ol & 49,276 48,048 1,228
Al 49,276
02 RIZFEA MM E X 49,276 48,048 1,228
OZetzTd =QZAE &3l 49,276
Al 49,276
LORAALE SASI XA 615,006 1,243,872 A 628,866
Al 615,006
307 21201 A 615,006 1,243,872 A 628,866
Al 615,006




A AMIEX
M AYS LEME B
Sl sol 2XEX CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
10 M3 SAANEEHESIGHEX 615,006 1,243,872 A\ 628,866
OLQQAUANAE SAXIF K& 615,006
Al 615,006
LOIQAAE SAXN EXxE 304,560 245,400 59,160
Al 304,560
307 gizto| A 304,560 245,400 59,160
Al 304,560
10 MM SAANEEHESIGHEX 304,560 245,400 59,160
OLOQQAANAE SAMX SXN=E 304,560
Al 304,560
ARG 29H| X (EXZAY) 252,100 235,200 16,900
Al 201,680
- 50,420
307 212t0| & 252,100 235,200 16,900
Al 201,680
- 50,420
10 M SXANEEHESIHEX 252,100 235,200 16,900
O3z 294l N 252,100
Al 201,680
- 50,420
ARG 29| XS (NHMAY) 114,660 77,000 37,660
201 Bt 1,200 1,000 200
01 AP 22| H| 1,200 1,000 200
OZzE gtezz)d 89 1,200
307 QI2t0| ™ 113,460 76,000 37,460
06 282 900 1,000 A 100
OZz Y =0lithy 2APBY IR
100,000 x9A 900
10 A SXNANEEHESIHEX 112,560 75,000 37,560
oZzd 294l XA 112,560
g8 22" /=2 6,700 6,250 450
Al 3,350
- 3,350
301 et A= 6,700 6,250 450
Al 3,350
- 3,350
01 AISIE& A %52 6,700 6,250 450
Ogd dz¢4 /= 6,700
Al 3,350
- 3,350
A2Y =3lTz ) 22| A BRI AFY 27,553 25,830 1,723
Al 13,777
- 13,776




2AM: M=KD
Hu: AUE LEME P
@2 Lo 2X5d (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
307 QI2t0| & 27,553 25,830 1,723
Al 13,777
- 13,776
11 AMISANAEE X 27,553 25,830 1,723
OHR[E =3z 22|kt X 27,553
Al 13,777
- 13,776
A2E E45 T2 AIY 20,000 20,000 0
Al 20,000
307 212t0| & 20,000 20,000 0
Al 20,000
11 A SAAIEE X 20,000 20,000 0
OZdg4Y gd8st T2 08 AY 20,000
Al 20,000
MO EXAE 29 K& 306,832 251,010 55,822
Al 306,832
307 212t0| & 306,832 251,010 55,822
Al 306,832
10 AIRISEXAIEEHE2IGHIEX 306,832 251,010 55,822
OMIMI=Q=EXAIE 2EHl A& 306,832
Al 306,832
LOFOIAESHEH 224 & 125,340 119,000 6,340
Al 125,340
307 Q12t0| ™ 125,340 119,000 6,340
Al 125,340
10 Al SXAIEEE2IHIEX 125,340 119,000 6,340
Ok FOIESHEH 24 X 125,340
Al 125,340
J=d132X2 59,150,505 57,506,863 1,643,642
= 47,320,404
Al 9,464,081
- 2,366,020
301 et A= 59,150,505 57,506,863 1,643,642
= 47,320,404
Al 9,464,081
- 2,366,020
01 M EXEE G2 59,150,505 57,506,863 1,643,642
(OPIES S INE=] 59, 150,505
= 47,320,404
Al 9,464,081
- 2,366,020
LSS =AY AALX & 365,901 374,350 18,449
2 256,131
Al 109,770




SN ALSI S X
Hu: AUE LEME P
Sl sol 2XEX CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 365,901 374,350 A 8,449
2 256,131
Al 109,770
11T M SXASE EX 365,901 374,350 N 8,449
Ok ssIIE2MEBIAAMERSE 365,901
= 256,131
Al 109,770
L ESESEFMUA SHIIEX 505,803 453,617 52,186
= 354,062
Al 151,741
307 glz2+ol & 505,803 453,617 52,186
= 354,062
Al 151,741
11T MISAASER 505,803 453,617 52,186
O =SS MBI AAMSRE 505,803
= 354,062
Al 151,741
EEOIDIAFA I A EHOtE X 3,547 13,406 A 9,859
= 2,483
Al 1,064
307 21201 A 3,547 13,406 A9,859
= 2,483
Al 1,064
11T ALS S XAEE = 3,547 13,406 A9,859
OSINI AL HI AALS KT & 3,547
= 2,483
Al 1,064
SEAHAL ST SSAHELB ML 23| 20,112 39,306 A 19,194
ol21H)
= 10,056
Al 10,056
307 21201 A 20,112 23,467 A 3,355
= 10,056
Al 10,056
11T ARSI SXAIEE =X 20,112 23,467 A 3,355
O=HEQ =ZHMHL S LML 2
AR A (QAHl) 20,112
= 10,056
Al 10,056
SAHLQ BEHON STUHLYMHIA SYXHA( 6,984 0 6,984
Jj22gl)
= 3,492
Al 3,492
307 glz2tol & 6,984 0 6,984
= 3,492
Al 3,492




SN ALSI S X
Hu: AUE LEME P
el Lol SXEX (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 6,984 0 6,984
OSHL SSTMY SSHELHMHA 2
g 0222 l) 6,984
= 3,492
Al 3,492
SAL EZFML SSAHELBNMU A 2N 6,100 0 6,100
FHlsdtl ¥ |SUESHE)
= 3,050
Al 3,050
307 21201 A 6,100 0 6,100
= 3,050
Al 3,050
11T MISXASEEX 6,100 0 6,100
O=Hke =TT S LML 2
X (HHS4H 2 KANEHE) 6,100
= 3,050
Al 3,050
SAEANN FEXNEAS X 140,900 140,900 0
Al 140,900
301 et a3z 140,900 140,900 0
Al 140,900
01 MEIBEE 263 140,900 140,900 0
ORAGLANU EE2XNA=S N& 140,900
Al 140,900
2232 M=x 500,000 0 500,000
Al 500,000
401 AIEHI L 2] 500,000 0 500,000
Al 500,000
01 A& Hl 500,000 0 500,000
OZ3zga d= 500,000
Al 500,000
22Y RAE* 55,000 40,000 15,000
401 Al HIZ 201 Y] 55,000 40,000 15,000
01 A& HI 55,000 40,000 15,000
OZ2Y KFXNE=xH 40,000
O=&adz2g HE =l 15,000
Z2Y S3NME A 23,200 14,000 9,200
Al 11,600
- 11,600
401 AIEHIZL 20HEI 23,200 14,000 9,200
Al 11,600
- 11,600
01 A& HI 23,200 14,000 9,200
OZ2Y SZ ML A HI 23,200




SN ALSI S X
M AYS LEME B
el ol =XEE (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 11,600
T 11,600
Hs=2H THIHE Ol AAHHHE 48,562 48,562 0
Al 48,562
307 gl2tol & 48,562 48,562 0
Al 48,562
11T AIS S RAEE = 48,562 48,562 0
ONS2H MItL=Ql AABHE 48,562
Al 48,562
d2AY RE2IAANG(BEX) 225,953 225,953 0
Al 225,953
307 glz2tol & 225,953 225,953 0
Al 225,953
11T MIEXASEX 225,953 225,953 0
oZzAdg XN& 225,953
Al 225,953
dZ2AY RS AAY (XA 6,000 8,000 A 2,000
201 Let24E] 5,000 7,000 A 2,000
01 At 22l 1,000 1,000 0
Ogzag 22 1,000
02 =224l 4,000 6,000 A 2,000
OZ2AE AMERA & 2= 4,000
405 TtabF S 1,000 1,000 0
01 AL EFFHSHI 1,000 1,000 0
OZzAg i+ 1,000
Colwa 23l 36,000 33,000 3,000
Al 36,000
307 21201 A 36,000 33,000 3,000
Al 36,000
10 M2 SXNANEHES2IHEX 36,000 33,000 3,000
Okoluwa 244l XA 36,000
Al 36,000
AMLIOEE 29 241,990 240,200 1,790
Al 205,700
T 36,290
307 glz2tol & 241,990 240,200 1,790
Al 205,700
- 36,290
10 AL SXAIEEE 2 H EX 241,990 240,200 1,790
OAILIOIEY 2gH X 241,990
Al 205,700
T 36,290




SN ALSI S X
Hu: AUE LEME P
Sl sol 2XEX CERED
(o
SN ZH-SR(SN) - HRAY - B Ol &k o8 il HlnE2
ColgRiel ¥ AtslE2sXE =i 3,050,130 2,946,911 103,219
= 1,525,065
Al 1,525,065
307 2Iztol ™ 2,546,218 2,518,506 27,712
= 1,273,109
Al 1,273,109
11T AIS S RAEE = 2,546,218 2,518,506 27,712
Ooldrtel & AtSIE#s ALSHl K& 2,546,218
= 1,273,109
Al 1,273,109
401 Al Bl 28I 503,912 428,405 75,507
= 251,956
Al 251,956
01 A& HI 503,912 428,405 75,507
Ol xiel ¥ A Es AL 503,912
= 251,956
Al 251,956
COISTALY Attt Sdas X 21,051 13,851 7,200
307 21201 A 21,051 13,851 7,200
02 It S AHE L 14,143 10,943 3,200
OLQtN SAES AL 10,943
OZ243E Louxsa IS 3,200
03 QI HE2IHEx 2,908 2,908 0
Oty Sd&8s 29| 2,908
04 DI2FHALALSE E X 4,000 0 4,000
O MeEH=stal ot XN 4,000
COQAANLHSF(IIsEL)AY 988,944 103,750 885, 194
2 494,472
Al 494,472
402 RIZ2FXt20l ™ 988,944 103,750 885, 194
2 494,472
Al 494,472
02 22t X2 AL E = (01X THE) 988,944 0 988,944
OOWMZ It =SR2 SH=E 988,944
2 494,472
Al 494,472
KNS AtS S KNI 2t 5t 87,120 72,000 15,120
Al 15,840
- 71,280
MISXAIE M= SAH| 87,120 72,000 15,120
Al 15,840
- 71,280
301 L2 A Z 87,120 72,000 15,120
Al 15,840




SN ALSI S X
M AYS LEME B
&2 XNFAS =X Zet st (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
- 71,280
0B A =RRAB LS 87,120 72,000 15,120
OMASIAE AMSIERRA S4H 87,120
Al 15,840
- 71,280
ZOHOIl atol B B4 14,065, 154 13,748,115 317,039
= 8,113,076
Al 5,920,667
- 31,411
ZOoHel HASA 14,065, 154 13,748,115 317,039
= 8,113,076
Al 5,920,667
- 31,411
MHZ0(ZOHO) 220,444 204, 100 16,344
= 198,400
Al 22,044
301 L2 A F 220,444 204,100 16,344
= 198,400
Al 22,044
01 A EE & 2563 220,444 204,100 16,344
O&EOMNFAIE HAHZH 220,444
= 198,400
Al 22,044
HOHQUNEAL SHXNA(SE) 2,181,628 2,068,545 113,083
2 1,527,139
Al 654,489
307 2201 A 2,181,628 2,068,545 113,083
= 1,527,139
Al 654,489
10 M3 SXNANEHI2IHEX 2,181,628 2,068,545 113,083
OFMAANFAIE HHAQIAHI 2,042,845
= 1,429,991
Al 612,854
OO NF=AIE 22/2FH| 138,783
= 97,148
Al 41,635
ZOHQIHZFAIE AlHIX & 67,531 105, 186 A 37,655
Al 67,531
307 21201 A 67,531 105, 186 A 37,655
Al 67,531
10 M2 SXNANEHE2IHEX 67,531 105, 186 A 37,655
OFMUAANFAIE SAX 2X==& 61,000
Al 61,000
OZOMANFAIE S EHH & FAHRAHI 1,248
Al 1,248
OFMAANFAIE ZFHI2AY 2HAH] 484




D AEIE XD
=YV LIE-TRPNE-TRE I3

= oo

LB AABH

=

SN HH-S(BN) - MBAY - B il HlnE2

Al 484
OZOMANFAIE OEole 2tAlH| 289
Al 289
OZOMHAHNFAIL o 2ZHI 3,510
Al 3,510
OFMAANFAIE LA24SHI 1,000
Al 1,000

Zoel Xiggol 228 AE AtY K& 21,000 20,000 1,000
Al 21,000

307 glz2+ol & 21,000 20,000 1,000
Al 21,000

11 AISI S XA E X 21,000 20,000 1,000
O&ofel XEge 22 HAT MY X3 21,000
Al 21,000

ZOHAAATHEANE 2F XA 470,324 354,724 115,600
Al 470,324

307 21201 A 470,324 354,724 115,600
Al 470,324

10 ALSISXAIEEER2IHEX 470,324 354,724 115,600
OFMHAXMATHEAIE HB Q2| 381,592
Al 381,592
OFMHAXTATHEAIE 22l 38,732
Al 38,732
O=Z2Z2AYTRL 2228 249 & 50,000
Al 50,000

ZOHAXATHEAIE THOLEOHR! S4lHl K& 40,176 33,240 6,936
Al 40,176

307 gl2tol & 40,176 33,240 6,936
Al 40,176

10 M3 SXNANEHI2IHEXR 40,176 33,240 6,936
OXOHAXATHE THOLEOHC! SAH XA 40,176
Al 40,176

Zopel=X2 2 X2 812,505 753,617 58,888
Al 812,505

307 glz2+ol & 812,505 753,617 58,888
Al 812,505

10 ALSISXAIEEE2EH EX 812,505 753,617 58,888
OZOMASX 2t =AIAHH| 727,505
Al 727,505
OFoer=x2 2el 23l 85,000
Al 85,000

HAZOHY ZSAHIE X 4,000 4,000 0
= 2,800
Al 1,200




AN ALEI =X

M mojolol MOl B s
Sl FOHY AABA CEEEED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
301 gt L= 4,000 4,000 0
= 2,800
Al 1,200
01 A3l EE E 56l = 4,000 4,000 0
O&Zel s4HIE XA 4,000
= 2,800
Al 1,200
SOOIFAESAE 2GR 147,721 140,784 6,937
Al 147,721
307 21201 A 147,721 140,784 6,937
Al 147,721
10 ALSISXAIEEE2EHEX 147,721 140,784 6,937
OZMI=2ES AL 21 AH| 123,721
Al 123,721
OXMAF2AESAIE 222 24,000
Al 24,000
FEsMEINE 2SI XA 105,992 98,386 7,606
Al 105,992
307 212+0| & 105,992 98,386 7.606
Al 105,992
10 M ZXNANEHI2IHE=X 105,992 98,386 7,606
OZMAZSSHUEIIE Q24| 81,992
Al 81,992
OXHel=sHaIE 22l 24,000
Al 24,000
=otESGHlH 2N 138,985 127,946 11,039
Al 138,985
307 gl2tol & 138,985 127,946 11,039
Al 138,985
10 M3 SXNANEHI2IHEX 138,985 127,946 11,039
O=stEsd 4 el 126,985
Al 126,985
O=stSYHEH 2222l 12,000
Al 12,000
s gs A 2,000 2,000 0
307 21201 A 2,000 2,000 0
11 AFBI = XA B 2,000 2,000 0
O+3inaSYeNs N 2,000
SSTHR NEHHEBHMEHKE 50,000 75,000 A 25,000
Al 50,000
307 glz2tol & 50,000 75,000 225,000
Al 50,000
10 M3 ZXNANEHIS2IHEX 50,000 75,000 A 25,000




SN ALSI S X
M mojolol MOl B s
Sl FOHY AABA CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
OZSSHMHAXNSHEHH X 50,000
Al 50,000
EXI|F ue 10,113 8,161 1,952
= 8,090
T 2,023
301 L2 A F 10,113 8,161 1,952
= 8,090
T 2,023
01 MEIBEE 253 10,113 8,161 1,952
OZOMHIE XD WRAH 10,113
= 8,090
- 2,023
ZOHAEBE R =elALS 105,220 91,512 13,708
Al 105,220
307 21201 A 105,220 91,512 13,708
Al 105,220
11T A SXAIEE = 105,220 91,512 13,708
OFMHAEBET =2lAt XI& 105,220
Al 105,220
ZOHA=SXIAY At SAES X 13,000 13,000 0
307 12+l & 13,000 13,000 0
02 It HAMHEE 13,000 13,000 0
OZOHAEH SUES AtHH K& 13,000
Zoe s A3 (EX) 3,466,632 3,380,000 86,632
= 2,426,643
Al 1,039,989
307 glz2+ol & 3,466,632 3,380,000 86,632
= 2,426,643
Al 1,039,989
11T MISAASEX 3,466,632 3,380,000 86,632
O&oeras XFAAL 3,466,632
= 2,426,643
Al 1,039,989
ZoHoIEsS XIJAAY AlHIZ=Ot 203,040 202,870 170
Al 203,040
307 21201 A 203,040 202,870 170
Al 203,040
11T AL S XAEE = 203,040 202,870 170
OZOMAES KISHAY AlBIZ=It 203,040
Al 203,040
ZofolEs NIAYE doRA/+Y 2,940 3,360 A 420
201 LB-2E| 2,940 3,360 A 420
01 At 2t 2l 2,940 3,360 A 420




2N

X ZH
S =

el

NEE
=YV LIE-TRPNE-TRE I3
ZOHOl HASA

. _ = SfE|
SA BB (3H) - NRAY - B Ol At o %E& HRE2
SEIEFEEREEEEY; 2,940
S THEAEA BIRH XS 595,564 658,800 NB3,236
= 416,895
Al 178,669
307 212t01 & 595,564 658,800 NB3,236
= 416,895
Al 178,669
11T A EXAIEEX 595,564 658,800 NB3,236
(@ 3=P\ k=@ ls]ES 595,564
= 416,895
Al 178,669
AHEEXRE HIRH A3 10,803 8,800 2,003
= 7,562
Al 3,241
307 212t0| & 10,803 8,800 2,003
= 7,562
Al 3,241
11 A EXAIEEX 10,803 8,800 2,003
O eE XA 10,803
= 7,562
Al 3,241
22FH0 g=sHE I 3,000 3,200 A 200
= 2,400
Al 600
307 21240 & 3,000 3,200 200
= 2,400
Al 600
11T AISIEXAIE EX 3,000 3,200 A 200
O=22Fd02 gsHls & 3,000
= 2,400
Al 600
Z2EA 4B F7HE N8 600 600 0
2 480
Al 120
307 QI2t0| ™ 600 600 0
2 480
Al 120
11T A EXAIEEX 600 600 0
OZ22FA A HAHE N 600
= 480
Al 120
S AR BERAIMNEXS 5,760 5,760 0
= 4,032
Al 1,728
307 2Iz2t0| & 5,760 5,760 0




2N
X ZH -
L= B

el

NEE
ZOHQIOl &rol B a4

ZOHOl HASA

=

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 4,032
Al 1,728
11T M SXASEX 5,760 5,760 0
OZZHMe 2424 5,760
= 4,032
Al 1,728
Ol Riel X (LeraEdRiel) 504,336 430,326 74,010
= 252,168
Al 252,168
301 et A= 504,336 430,326 74,010
= 252,168
Al 252,168
01 AR 2Z A5l 3 504,336 430,326 74,010
OFHel Lt LRl ALY 504,336
= 252,168
Al 252,168
Zoielgdxiel X (sXLXel) 169,440 145,188 24,252
= 84,720
Al 84,720
301 gt L= 169,440 145,188 24,252
= 84,720
Al 84,720
01 MEI2ZE 06z 169,440 145,188 24,252
O&ofel =XLXtel At 169,440
= 84,720
Al 84,720
RS EXS ME 6,268 1,780 4,488
201 Lt 6,268 1,780 4,488
01 At 22l 6,268 1,780 4,488
OXOMIXSX ZXS M= 6,268
ZOHQUEOAAIE AMXAAREA OUl 400 600 2200
301 e A= 400 600 2200
MIEE43 400 600 A 200
OO EHAE AT AIRE 0HI
20,000& x2H x102] 400
ZHeAZE SH X2 3,431,814 3,521,000 A 89,186
= 2,402,270
Al 1,029,544
301 et a s 3,431,814 3,521,000 A 89,186
= 2,402,270
Al 1,029,544
01 MEIBEE 263 3,431,814 3,521,000 A 89,186
Oz 3,431,814
= 2,402,270




AN ALEI =X

Ha: FHOHOIo MOl B Sa

el Fojel AAUEA (e @e)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2

| Al 1,029,544

S (Ix) XS 549,924 524,870 25,054
= 384,947
Al 164,977

301 Bt A= 549,924 524,870 25,054
= 384,947
Al 164,977

01 M BEEE2G2 549,924 524,870 25,054
OFME=H(IIx) 549,924
= 384,947
Al 164,977

NS (NARS) 2 351,014 344,850 6,164
= 245,710
Al 105,304

301 LBt A= 351,014 344,850 6,164
= 245,710
Al 105,304

01 MSIEEE G2 351,014 344,850 6,164
OFM=Z (XHAS) 351,014
=2 245,710
Al 105,304

ZOHQ THE XS 180,000 220,000 A 40,000
Al 180,000

301 dBtE A= 180,000 220,000 A 40,000
Al 180,000

01 A3 E & X 435 2 180,000 220,000 A 40,000
O&OIMHE= 180,000
Al 180,000

ZoHelo=sdl X 182,400 182,400 0
= 145,920
Al 36,480

308 AXISHXMSOIH 182,400 182,400 0
= 145,920
Al 36,480

10 SISO UsSHE AN AN 182,400 182,400 0
OOl =dl X& 182,400
= 145,920
Al 36,480

HASHOMHE Mey L 2AH N 5,800 5,800 0
= 2,900
Al 2,900

301 et A= 5,800 5,800 0
= 2,900
Al 2,900

01 M3 EXEE %62 5,800 5,800 0




AN ALEI =X

Za: ZojeIol ao F EA

o

oo

el Zojol AUBH (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZOME S5 Tty 5,800
= 2,900
Al 2,900
N O MEU 780 0 780
201 Let2d] 780 0 780
01 At 22l 780 0 780
OX& ZO0H MEHI 780
SSEMAIT SESAHE At HI 4,000 0 4,000
307 21201 A 4,000 0 4,000
11T MISXAISEEX 4,000 0 4,000
OSSEMLUIT 2SI HME AL HI 4,000
A 2L AU (AL S X 1tH) 83,686 78,394 5,292
Jl=&dl 83,686 78,394 5,292
Jl2234 83,686 78,394 5,292
201 Let24d] 14,356 13,774 582
01 At 22/l 14,356 13,774 582
O=AEXN 7 20,000 60 A 1,200
Ol 2,680
—-ZeH 176,000 »3CH 33| 1,584
-2 Eed 274,000 44 1,096
ORM2Z JIE+8H| 10,000& = 18H 128 2,160
OAlZtel 22X S4lH|
7,000 «5.541 %18 x12& 8,316
202 Odl 60,480 57,120 3,360
01 = LH 4 Hi 60,480 57,120 3,360
O2LH o HI 280,000& 18K «x12& 60,480
203 R =&t 7,500 7,500 0
01 71228 =2 3,300 3,300 0
OFeU=EX=H 3,300
04 FANSEHE=LH 4,200 4,200 0
ORN2IEYRF=AHI 4,200
- & & 302 Olst 350,000& 1228 4,200
405 TtabF S| 1,350 0 1,350
01 AL EFHSHI 1,350 0 1,350
OAMSA HEHH 2 180, 000& *5H 900
OARa ME ¢ 230,000 =14 230
OMEH A28 HE ¢ 220,000 =14 220




